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FHEEFEMTRIA 3,205,400,000 3,205,400,000 0
FHHIRA 112,800,000 112,800,000 0
FFEIA 15,000,000 15,000,000 0
fHBAE UL A 316,100,000 296,100,000 20,000,000
BEEEEMBIEIRA 310,000,000 290,000,000 20,000,000
Z Dt EEHBIEIRA 2,000,000 2,000,000 0
AN HEREFEFHEILA 100,000 100,000 0
ZHMTHRIREE EHBIEINA 4,000,000 4,000,000 0
BEFAULA 800,000,000 0 800,000,000
TREE - INIEBFINA 37,500,000 37,500,000 0
ZHF R -EELEINA 58,300,000 58,300,000 0
HEUXA 98,000,000 92,000,000 6,000,000
BAESZEIA 0 0 0
HIZEILA 394,500,000 394,500,000 0
Z DD UTA 981,000,000 1,781,000,000 800,000,000
BEUNAREETE A 458,500,000] A 458,500,000 0
AIEERUXILES ¥  1,281,300,000 819,400,000 461,900,000
IRADEREET 6,841,400,000 6,353,500,000 487,900,000
KEM2TEEREICKYELE
X HDOE
4 | HEFHE LTFE 7
AEEXH 1,751,500,000 1,751,500,000 0
BERARBEEI N 1,203,700,000 1,188,700,000 15,000,000
EEEEXN 313,000,000 279,000,000 34,000,000
BEAEEFRXH 0 0 0
BEAEFREX 0 0 0
MEER BRI H 1,906,600,000 1,906,600,000 0
X fmBAR 139,300,000 139,300,000 0
BEERAXZH 580,000,000 580,000,000 0
ZTDDZH 57,000,000 57,000,000 0
[FlEE] 20,000,000 20,000,000 0
BEXHARETE A 54,000,000( A 54,000,000 0
PEEBRUXILES 924,300,000 485,400,000 438,900,000
XHOEEE 6,841,400,000 6,353,500,000 487,900,000
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Bl ] WEFE ZUFE = 2
FHEAEFEWNGE 3,205,400,000 3,205,400,000 0
FHH 112,800,000 112,800,000 0
HFitE 15,000,000 15,000,000 0
Iy |(BEEFME 316,100,000 296,100,000 20,000,000
A BREEEEHDS 310,000,000 290,000,000 20,000,000
) ZDMEEREIE 2,000,000 2,000,000 0
iﬁl &B A NHARERHE 100,000 100,000 0
g FHARREESHDE 4,000,000 4,000,000 0
%ﬂ TS EIRA 37,500,000 37,500,000 0
| [FERA 98,000,000 92,000,000 6,000,000
¥ | |BEEHIRAG 3,784,800,000 3,758,800,000 26,000,000

#l ] WEFE ZUFE = £
¥ (AHE 1,719,500,000 1,719,500,000 0
H|IBERERE 1,674,700,000 1,659,700,000 15,000,000
D (EERE 399,000,000 365,000,000 34,000,000
IEN eSS 0 0 0
AR EE R HE 3,793,200,000 3,744,200,000 49,000,000
BB EHINZEE A 8,400,000 14,600,000 A 23,000,000

1y F = HEFE LUFE = =
| A |ZBAE S 58,300,000 58,300,000 0
| D ZDHDEFFHIFIXA 0 0 0
| 8 [ BB EHIMRAGT 58,300,000 58,300,000 0

#|x F = HEFE LUFE = £
N [BAEEFIE 0 0 0
|0 |20t n%E EB N K H 0 0 0
X | 88 | A E By o R E 0 0 0
HETENINZELRE 58,300,000 58,300,000 0
BEEINZEL 49,900,000 72,900,000 A 23,000,000

F = HWIETE LUFE = £
?E BEFTIES 171,000,000 0 171,000,000
o ZDMDFEFRIULA 0 0 0
Y | zp MR immbE 0 0 0
Al FrRIlUR AT 171,000,000 0 171,000,000

1% Fl = WEFE ZUFE = 2
X || EERSESE 0 0 0
D ([ ZDHD4EFI T H 0 0 0
2B |4 R 5t 0 0 0
BRI Z =58 171,000,000 0 171,000,000
Fint 20,000,000 20,000,000 0
ERXEHANSFEENZEE 200,900,000 52,900,000 148,000,000
HEAREHALE A 1,277,900,000] A  1,142,800,000| A 135,100,000
HEENZELE A 1,077,000,000] A  1,089,900,000 12,900,000
A RN T =58 3 1,066,100,000 180,700,000 885,400,000
BEEEBINTES A 10,900,000| A 909,200,000 898,300,000

MER2TEEREIZKELE
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BEFHRAG 4,014,100,000 3,817,100,000 197,000,000
EXEHZHE 3,793,200,000 3,744,200,000 49,000,000




